BT75=hH)LT—% / Technical Datall

##{+tJLY / Recommended torque : 0.3N=m ~ 0.6N*m

FIFE / Product Number

AUXR

H~F %

H dimension

W=t %k

W dimension

D~F%

D dimension

EXP/H

Screw (P or H)

L HiZE R4L#k / Original trapezoid head screw specification

itk

Color Type

¥ERINZ / Components

No. # ¥ / Part name ¥ E / Pes #E / Material & - RELEE / Color-Finish
1 WFEMAFTIUTSrvE 9 FILSZAFr X ADC12 DIiN— | TSy - R (NERELIE)
Handle corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
) a—F—Javy ) TILEF A Fw X ADC12 DIIN—, TFv) - B (REELE)
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
3 IR 4 TILSHHH A6063S-T5 DIWN— TS5 T LI T HE
Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
. Hn— : 7 ILZHR A1100P DIWIN—, TS99 TILIAh
Top cover Aluminium A1100P Silver , Black*Anodized
5 THN— : 7 JLEFR A1100P DIiIN— TS5V TILIAb
Bottom cover Aluminium A1100P Silver , Black*Anodized
6 JLE 4 AT T35y
Ruber feet Rubber Black
; BATE R (M3 x 8) . % —uTILAYE
Screw (Flat head M3 - 8) Steel Nickel plated
8 HTER (M3 x 5) " % ZuLAvEd | ZlESOA—k
Screw (Trapezoid head M3 — 5) Steel Nickel plated , Black trivalent chromate
®

E‘ S X / Phillips 75f / Hexagon—socket
f8{L#k / Color Type
5 / Code | Y2 hIS4 Uk / Handle corner block O—+—7J8w% / Corner block | AB {8l#x / AB Frame | CD {8ll#& / CD Frame | £ /73— / Cover
SS < )LsS— / Silver < JLsN— / Silver < )Ls3— / Silver < JL/N— / Silver < JL/N— / Silver
S B 5% / Black 73597 / Black 2 )L7S— / Silver 2 )LsA— / Silver L JLiN— / Silver
B S 75v% / Black 75v% / Black 2 JLIR— / Silver J5v% / Black J5v% / Black
B B 75974 / Black 75974 / Black 75v% / Black 75974 / Black 759% / Black

2
3
mf/Title r\
TAKACHI] HRteitshFBRIE SyHT U —2 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. 19” Rack Mount Enclosure
&R /Approved #&[X/Checked #[X/Created I & /Product number RE/Scale
i I B AUXR177-43-5000-0101 —
~N— /Page
e B /Date 2024/09/02 1/ 6

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




B-B(1:65)

453

383

D view

D(1:3)

595

165.1

)]
W

5.95
5.5

A

8 4-F9%6.5 % 11

17705 (r—R4 2 / External)

E view

C view

fo ) o)
C
) d
e ! A_
o d
A view
, 466 ,
) \ mﬁ B
/ M
"\/ D = A I
482
F view
R\ A
T : 5T
L . O)
43008 (y—RA45V\ 2 / External)

A-A(1:65) C-C(1:65)
& 2
492 422
B view
500+0.8 (/—R 4}V 2 / External)
\——
5275
mf/Title
TAKACHI] #R2HNTFERTE SwhTHURr—Z O ]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. 19” Rack Mount Enclosure
7R/ Approved & /Checked #1[X]/Created #IZ /Product number RE/Scale
1:6.5
iR s A AUXR177-43-50-C0] p— v
2024/07/11 2 /6

YER B /Date

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A IR / A Frame

380 22.5
™
- N —F
™
[9p)
2 S
— ©
3
™
™
J \:ﬁ p—
[ap)
3_— i
B —_—————
5 5
2-M3AH IR
2@ / Front side 2-M3 Countersunk M / Back side
¥ xIEHLFEFR / Same on the other side.
B {8l#x / B Frame
=)
o=
0
3@ / Front side E @ / Back side
a4/ Title A —
= A =5
TAKACHI| HARHINTFEHRIE 4R O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7R/ Approved & /Checked #1[X]/Created FIZ /Product number RE/Scale
1:3
iR 3 S —
H177 — W430 Em B /Date 2024/05/15 3/ 6
AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C ¥ / C Frame

450 , 225
| ™
— (= 2
@
[ap)
. S
= ©

3
@
™

B S | E
™
D &
> 2-M3FH SR S
2-M3 Countersunk
¥ xImEELFEHR / Same on the other side.
Z M / Front side
D {8I#% / D Frame
— | —~——"]
 —————————————————————————————————————————————— Up

==
—_—

E

M / Front side

E @ / Back side

ZE M / Back side

mf/Title
TAKACHI] #R&#ahFEHIE IR O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
A& R/ Approved #&[X/Checked #[¥]/Created FI& /Product number RE/Scale
1:35
Pt 2 e —
H177 — D500 e B /Date 2024/05/15 4 /6

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




419.4

4R14T . 200 | 6o 2
— o X /o PA

0
o
+
™
o
<
£
ne)

% 2 g 2 o] & &

< = s
~
pl
| {REES—AY
T urface protective film side

1I— ¢ 7 N &
Btk / Max dim. 383+£0.5
M / Front side %M@ / Back side
4/ Title
TAKACHI] BXSuahFEMTE $75— O ]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
Bl S S RE/SCaE
7 2%/ Approved 1% X]/Checked #[X/Created FIZE /Product number
1:4
iR 3 GES —
W430 - D500 e B /Date 2024/03/29 5/ 6

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




419.4

ar147_ | 400 | 6o 2
— o X /o AN

L
o
+
™
o
<
£
ne)

% 2 g 2 o] & &

< = s
~
pl
| {REES—AY
T urface protective film side

— X & \ &
Btk / Max dim. 383+£0.5
M / Front side %M@ / Back side
4/ Title
TAKACHI] #RX&#tshFEHTE THA— {} G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
Bl S S RE/SCaE
7 2%/ Approved 1% X]/Checked #[X/Created FIZE /Product number
1:4
iR 3 GES —
W430 - D500 e B /Date 2024/03/29 6 / 6

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




	AUXR177-43-50□-□□.pdf
	シートとビュー
	AUXR177-43-50□-□□-モデル


	AUXR177-43-50□-□□.pdf
	シートとビュー
	2
	3
	4
	5
	6



